### **Sirron Capital**

Unit Valuation 30/06/2022

Philip Dowling dowlings@bigpond.net.au

		Number of	Price per Unit			
Date	Description	Units	(AUD)		Total Va	lue
30/06/2022	Decentraland (MANA) Cryptocurrency	1835.678593	\$	1.28	\$	2,349.67
30/06/2022	The Sandbox (SAND) Cryptocurrency	1129.254717	\$	1.54	\$	1,739.05
					\$	4,088.72

For all enquiries please contact Hurtle Norris: 0409 019 848 - invest@sirroncapital.com

## **Sirron Capital**

**Transaction History** 

Philip Dowling dowlings@bigpond.net.au

		Number of	Price per Unit			
Date	Description	Units	(AUD)		Total Co	nsideration
	The Sandbox (SAND) Cryptocurrency	569.8845074	\$	6.5803		3,750.00
12/01/2022	The Sandbox (SAND) Cryptocurrency	559.3702099	\$	6.7040	\$	3,750.00
	Totals	1129.254717			\$	7,500.00

For all enquiries please contact Hurtle Norris: 0409 019 848 - invest@sirroncapital.com

### **Sirron Capital**

**Transaction History** 

Philip Dowling dowlings@bigpond.net.au

		Number of	Price p	er Unit		
Date	Description	Units	(AUD)		<b>Total Con</b>	sideration
10/01/2022	Decentraland (MANA) Cryptocurrency	918.6881723	\$	4.0819	\$	3,750.00
12/01/2022	Decentraland (MANA) Cryptocurrency	916.9904212	\$	4.0895	\$	3,750.00
	Totals	1835.678593			\$	7,500.00

For all enquiries please contact Hurtle Norris: 0409 019 848 - invest@sirroncapital.com

#### Jacky dowling

From:

Dowling, Philip <pdowling@tglaw.com.au>

Sent:

Wednesday, 23 March 2022 10:10 AM

To:

'dowlings@bigpond.net.au'

Subject:

FW: Fund Allocation - Sirron Capital

FYI

From: Hurtle Norris < hurtle@norriscorp.com.au>

Sent: Tuesday, 15 March 2022 8:12 AM

To: Dowling, Philip <pdowling@tglaw.com.au>
Cc: Douglas Norris <djn@norriscorp.com.au>
Subject: Fund Allocation - Sirron Capital

Morning Philip,

I apologise for not getting this information to you earlier. Your holdings are as follows:

1835.69 units of Decentraland (MANA) at an average unit cost of ~\$4.09 AUD, totalling to \$7,500 in this token.

1129.25 units of Sandbox (SAND) at an average unit cost of ~\$6.64 AUD, totalling to \$7,500 in this token.

Please contact me if you have any queries.

Cheers,

# Hurtle Norris Norris Corporation

ABN 17009776121 Survey Consultants Pty Ltd 0409 019 848

PO Box 91 Wilston, Qld 4051



Virus-free. www.avg.com